@ 16 ® 17 @ 18 )19

D 15

Alo]Z

12-3=9

FJ HEb=12-2=10

19

La+b=9+10




24749, 21 70

®

47y, 14 70

@
®

3,971

T

N

749, 24 7

1l

.20 7H

T

N

Ul

ol
mm.o
=

~H

J
5

o

Hr

— 20(7f) oIk,




A7y

< 294 10719

@ 7470 @ 8471 ® 9471

@ 6471

@54 A

g7 296y 10 9] 47Go]




4.  t Id-NA za+ b ©] A71E F5FeqEt

>
> =g 90°

B

/AFE = /CFD = 20°

(BEF = za + 20°

(BCF = /b + 20°

OBCFE of| A

70° + /b + 20° 4 160° + Za + 20° = 360°
s la—+ /b =90°




5.

o ™A 2x o] 27127

A
/% 7
o xr—
32
B C

ou @ O @

® 84°

2x —42° = x + 32°
coLx = T4°




6. Tt 1”4 AB=AC, DB =DC ¥ d, zx ©] 275 stz

A
N
) AN,
20%
Ve
B C
=1 3 )

B C

o8 73 Zro] AE BC 12 AB = AC ©]E=2 /ABC =
1

(ACB = 5(180" - 70°) = 55°

/ABD = 20° |2

- /DBC = 55° = 20° = 35° , DB = DC °©]¥ /DBC = /DCB

olm =2

/x + 35° + 35° = 180°

oolx = 110°




o ™A 2x o] 27127

84°

® 132 @ ue @y @

® 146°

B

84° = /B + «C
ABC + /BCI = %(AB +/C) =42°

ABICO A zx = 180° — 42° = 138°




Mw

A

8. = 2¥lA £ABC 9 o524 /ACE 9] o] 52419 1A
D2t o, /x = 2y ° B #iJA] F5tofzt

flo

=i Hj

>
> ®ef: 2w

/x+ (B =2(sy+ (DBC) 14| /B = 2/DBC ©|E& /x = 22y
oI}, watA 2 Wjo}.




9. o= ™A x o e Tt

D
A

120°

L
o

/CAD = 2/ABC
120° = 3/ABC
o /Zx = 40°




10. o= 2™OlA 2x o 2715 Foheq=t,

\VARR 4
N

0.

.i

i

105°

A7t o) o 9)7ke] A7)k

79} o957 @ E Yizte] 7)) @t gong
Za = 40° + 35° = 75°

/x = Za+ 30° = 105° ©]t}.




‘ @ 540° @ 1260° B 1440° @ 1620° ® 1800°




12, o2 Tl za+ b+ cc O o2 &2
AL

@ 180° @203 )25 @ 2u6°  © 20°

B ~
Q7+ ol Yzt 135° 2k 90° o] 2]zr8e 77 1—45 90° o]c}, thzt
39| £J7+] T2 360° 0| B &,
45°4+90°+ Za+ /b + Lc = 360°,

La+ Lb+ Zc = 360°—90° —45° = 225° O]t}




13. o= 2"elA x & 27]=7

O 70° @ 72° @73° @ 74° ® 75°

AECE & 9431 27219 ABCEF 2] Wzhe] g2 180°x (5
2) = 540°

540° = 105° + 120° + 36° + /DCE + /DEC + 62° + 110°
/DCE + /DEC = 107°

ADCE of| A

/x = 180° — 107° = 73° o]t}

| 730




14. oS 2" 2x + 2y - 2z 9] g2 Faheig},

\VARR 4
0x
i

46 °

~&B

Lz = 35° +32° = 67°

Ly = 30° 4 53° = 83°

£x =180° - (67° + 83°) = 30°

. Lx+ Ly — Lz =30° 4 83° - 67° = 46°




@® 70° @80° ® 90° @ 100° ® 110°

Ho7rg o) & yzhe] 27 WXTM —120° 0] 1L,
Aazrge) @ gzte] 2 BUXGB=2 oo

EG A2 ] 2] 3719 FL 360° o] B2
/x = 360° — 120° — 100° — 60° = 80° ©]t}.




o

B o
T o M
ﬂﬁﬂAﬂ_.
G T
oo K
o N o~
1%W
w.ma_ame
= o
o BN
E._ﬂ_u:,_
MH
Hged
N N
~ o of
__0.._
G
2 __1_1mo
o) N
0
) T
RN TN
AR
¥
o_E._U_.
\.—V 1
5T B
g XK
© K 0

36° o]t}

360°
10

)

ozte] 271




17.

W%l%ﬂﬁa%é@ﬂéﬂ§5méﬁ
o] 3ol 5.0pt24.88ptADC-°4 dol=

5.0pt24. S8PEABC o 29lct. moCe)
2718 atolat
D
> = e
> ®Hg: 90°
5.0ptAB = @1 st®W 50pBC =
3a, 5. opt24 88ptADC =8a,
. /BOC = 360° x % —90°




18. o2 29894 BD & € 0 9] AE°|iL AC//BD, 1AOC = 140° ¥
VN N
i, 5.0ptBD ] Zo]7} 5.0ptAB 2] Zo]e] 5 ulQl7}?

Os58 @6 @ 7H @ 8w (@)QHH

~&B

AAOC 7} o] 5HAZg ol B2 /OAC = 20° ©]11, AC//BD
olmg2

L/OAC = /AOB = 20° °]t}.

BD & A E0]22 /BOD = 180° o]t}

up2bA] 9 Hjo]tt,




19. oh& 19| §re 0 614 TO // DB ©] 1 LA0C = 30° , 5.0ptDB = 12
2 o, 5.0ptAC °] AolE Fsteiet.

D,
C

=

A 300 O B

i

vV V¥
0
L
w

~&B

A O oA & Do A& AZ5H ADOB + °o] 584z o]
1, CO//DB °]|2& /AOC = /DBO = 30° °]1, /DOB =
180° — 30° — 30° = 120° ©]t}.

VN /N
wabA] 30° : 120° = 5.0ptAC : 12, 5.0ptAC = 3 ©]c}.

]




20. TS 224 /EOF : /AOB = 1 : 2 0|1, 5.0ptBC = 5.0ptEF
old, A& EOF 9] Hol&= §,, A& COD 9] Hol& S, ot
S1:89 @S a: b T, a+b ] G2 Aot (B a, b=

FESSI=R
A
ay:
)
C
D
| =
> ™He: 4

B

/N N\
/BOC = /EOF (5.0ptBC = 5.0ptEF°]|#/BOC = /EDF =
/x°|tt)
/COD = 90° °o]22 /BOC + /AOB = 3x = 90°, x = 30°
FAE9 Wole S449] 2719 AHlestE g,
§$1:8,=30°:90°=1:3
a=1 b=3°E%
~a+b=1+3=14




21. 590,09 59| Folo] ul7}6: 5% wf, o] = 4] Yol o] ]S
Ffofat,

> E.

> ®ehl 36:25

e ~
2nr : 21’ =6 : 5

sLrir=6:5

oW, r = 6k, ¥’ = 5k 2tal S}

= 919] Wolo] Wi

nx (6k)% : mx (5k)%> =36 : 25







23. The Tl ARG HEo] Holg TFatelet,

[,8cm~;,8 cm\\

L

o

=
[

\VARR 4
X
i

327 cm?

(Wol) = x 8% —nx4% x 2 = 64rn — 327 = 321( cm?)




-

~~-4cm-

@® (16 — 4m)cm? @ (16 - 8m)cm? ® (32 - 4m)cm?

@ (32 -167)cm? @(32 — 8m)cm?

1 1
(@2] Hol)= 4><7r><42—§><4><4—47r 8

2H
(03 A B8] Yol
4 -

2x (@2 Hol)= 16 — 2(4n - 8) = 16 — 87 + 16




@ (20 + 4n)cm
(@)(24 + 81)cm

9] Wkz]&9] Zo]7}t 4em 21 Al 9] D75

4cm

@ (22 + 5m)em ® (24 + 4n)cm

® (48 + 4m)em

A6+ 271 x4 =24 + 8r(cm)




